

Amazing formulas related to Pi

Edgar Valdebenito

27 Feb 2022

abstract

In this note we give some formulas related to Pi:

$$\pi = 4 \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} = 3.1415926535 \dots$$

keywords: number Pi , integrals , series .

Formulas

Entry 1.

$$2\sqrt{3} \ln\left(\frac{1+\sqrt{3}}{2}\right) - \frac{\pi}{6} = \int_0^1 \sin^{-1}\left(\frac{4(1-x^2)}{3+3x^2+\sqrt{1+34x^2+x^4}}\right) dx \quad (1)$$

Entry 2.

$$\pi = 3\sqrt{3} \int_0^1 \frac{1+x^6}{(1+x^2+x^4)^2} dx \quad (2)$$

$$\frac{\pi}{3\sqrt{3}} = \int_{1/2}^1 \frac{1+x^6}{(1+x^2+x^4)^2} dx + \sum_{n=0}^{\infty} (n+1)2^{-6n-1} \left(\frac{1}{6n+1} - \frac{1/2}{6n+3} + \frac{1/16}{6n+5} + \frac{1/64}{6n+7} - \frac{1/128}{6n+9} + \frac{1/1024}{6n+11} \right) \quad (3)$$

$$\begin{aligned} \frac{\pi}{3\sqrt{3}} &= \sum_{n=0}^{\infty} (n+1)2^{-6n-1} \left(\frac{1}{6n+1} - \frac{1/2}{6n+3} + \frac{1/16}{6n+5} + \frac{1/64}{6n+7} - \frac{1/128}{6n+9} + \frac{1/1024}{6n+11} \right) + \\ &\sum_{n=0}^{\infty} (n+1)2^{-n-2} \sum_{k=0}^n \sum_{m=0}^k \binom{n}{k} \binom{k}{m} (-1)^k \left(\frac{1-2^{-2k-2m-1}}{2k+2m+1} + \frac{1-2^{-2k-2m-7}}{2k+2m+7} \right) \end{aligned} \quad (4)$$

Entry 3.

$$\pi \sqrt{2(\sqrt{2}-1)} = 2 \sum_{n=1}^{\infty} \tan^{-1}\left(\frac{1}{1+n^2}\right) + 4 \int_0^1 \left(\sum_{n=0}^{\infty} \frac{x(x+n)}{1+(x+n)^2} \right) dx \quad (5)$$

Entry 4.

$$\frac{\pi^2}{72} = \int_{1/3}^{1/2} \frac{1}{\sqrt{1-x^2}} \cos^{-1}\left(\frac{1-x}{2x}\right) dx \quad (6)$$

$$\frac{\pi^2}{6} = \int_0^1 \frac{1}{\sqrt{x(1-x)}} \tan^{-1}\left(\frac{17-12x}{4\sqrt{21}}\right) dx = \int_0^1 \frac{1}{\sqrt{x(1-x)}} \tan^{-1}\left(\frac{5+12x}{4\sqrt{21}}\right) dx \quad (7)$$

Entry 5.

$$\pi \left(\frac{1}{8} + \frac{\sqrt{2(\sqrt{2}-1)}}{2} \right) =$$

$$\sqrt{2(\sqrt{2}-1)} \tan^{-1} \left(\frac{7}{2\sqrt{17+13\sqrt{2}}} \right) - \frac{1}{2} \tan^{-1} \left(\frac{1649}{5743} \right) + \sqrt{\frac{1+\sqrt{2}}{2}} \ln \left(\frac{5+8\sqrt{2}-4\sqrt{5\sqrt{2}-1}}{13} \right) + \quad (8)$$

$$2 \sum_{n=1}^{\infty} \tan^{-1} \left(\frac{1}{1+n^2} \right) + 4 \sum_{n=2}^{\infty} \sum_{k=0}^{\infty} c(k) \left(\frac{n^{-2k-1} - (n+1)^{-2k-1}}{2k+1} - n \frac{n^{-2k-2} - (n+1)^{-2k-2}}{2k+2} \right) \quad (9)$$

$$c(k) = \left(\frac{1+i}{2} \right) ((-1+i)^k - i(-1-i)^k), \quad k = 0, 1, 2, \dots; \quad i = \sqrt{-1}$$

Entry 6.

$$\frac{3\sqrt{3}}{2\pi\sqrt[3]{4}} \left(\Gamma \left(\frac{2}{3} \right) \right)^3 = \int_0^{\infty} \left(1 - \left(\sqrt[3]{\sqrt{\frac{1}{4} + \frac{1}{27x^6}} + \frac{1}{2}} - \sqrt[3]{\sqrt{\frac{1}{4} + \frac{1}{27x^6}} - \frac{1}{2}} \right)^{3/2} \right) dx \quad (10)$$

$$\frac{27}{8\pi} \left(\Gamma \left(\frac{2}{3} \right) \right)^3 = \int_0^{\infty} \left(1 - ((\cosh x)^{2/3} - (\sinh x)^{2/3})^{3/2} \right) \frac{\cosh(2x)}{(\sinh(2x))^{4/3}} dx \quad (11)$$

Remark: $\Gamma(x)$ is the Gamma function.

Entry 7.

$$\frac{\pi}{\sqrt{15}} \sqrt[3]{\frac{1}{2\sqrt{5}} + \frac{3}{4}\sqrt{\frac{1}{2\sqrt{5}} + \dots}} = \quad (12)$$

$$\sum_{n=0}^{\infty} (-1)^n 2^{-2n-2} \left(\frac{(2n)!}{(2/3)_{2n+1}} F \left(\frac{2}{3}, 2n+1, 2n+\frac{5}{3}, -1 \right) + \frac{(2n)!}{(1/3)_{2n+1}} F \left(\frac{1}{3}, 2n+1, 2n+\frac{4}{3}, -1 \right) \right)$$

Remark: $F(a, b, c, x)$ is the Gauss hypergeometric function.

Entry 8.

$$2\sqrt{3} \ln \left(\frac{1+\sqrt{3}}{2} \right) - \frac{\pi}{6} + \frac{4}{3} - \frac{7}{6\sqrt{3}} =$$

$$\int_{1/2\sqrt{3}}^1 \left(\sqrt[3]{\sqrt{\frac{1}{27x^6} + \frac{74}{27x^4} - \frac{1}{9x^2} + \frac{5}{3x^2} - \frac{1}{27}} - \sqrt[3]{\sqrt{\frac{1}{27x^6} + \frac{74}{27x^4} - \frac{1}{9x^2} - \frac{5}{3x^2} + \frac{1}{27}}} \right) dx \quad (13)$$

Entry 9.

$$\pi = \frac{33}{2\sqrt{21}} \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} \left(\frac{121}{336} \right)^n \sum_{k=0}^n \binom{2n+1}{2k} \binom{2k}{k} \left(\frac{3}{11} \right)^{2k} \quad (14)$$

$$\pi = \frac{645}{44\sqrt{21}} \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} \left(\frac{215^2}{88^2 \cdot 21} \right)^n \sum_{k=0}^{2n+1} \binom{2n+1}{k} \binom{2k}{k} \left(\frac{9}{215} \right)^k \quad (15)$$

Entry 10.

$$\frac{\pi}{\sqrt{3}} - 2 + \frac{3}{2} \ln 2 + \ln 3 = \int_0^1 \ln \left(\sqrt{x^2 + \sqrt{48x^2 + x^4}} + \sqrt{24 + x^2 + \sqrt{48x^2 + x^4}} \right) dx \quad (16)$$

Entry 11. For $a > \cosh^{-1} \left(2 \sqrt[3]{\frac{1}{3\sqrt{3}}} \right)$, $u = \frac{1}{\sinh^2 a \cosh a}$, we have

$$\frac{a}{\sinh^2 a \cosh a} + \frac{1}{\sinh a} + \tan^{-1}(\sinh a) - \frac{\pi}{2} = \int_0^u \cosh^{-1} \left(\sqrt[3]{\frac{1}{2x} + \sqrt{\frac{1}{4x^2} - \frac{1}{27}}} + \sqrt[3]{\frac{1}{2x} - \sqrt{\frac{1}{4x^2} - \frac{1}{27}}} \right) dx \quad (17)$$

Entry 12. For $a > 0$, we have

$$2 \tan^{-1}(e^a) - \frac{\pi}{2} = \sum_{n=0}^{\infty} 2^{-n} \sum_{k=0}^n \binom{n}{k} (-1)^k \left(\frac{1 - e^{-(2k+1)a}}{2k+1} \right) \quad (18)$$

$$2 \tan^{-1}(e^a) - \frac{\pi}{2} = \sum_{n=0}^{\infty} \frac{(1 - e^{-a})^{n+1}}{n+1} F\left(-n, n+1, n+2, \frac{1 - e^{-a}}{2}\right) \quad (19)$$

$$2 \tan^{-1}(e^a) - \frac{\pi}{2} = (1 - e^{-a}) \sum_{n=0}^{\infty} \frac{(1 - e^{-2a})^n 2^{-n}}{n+1} F\left(-n, 1, n+2, -\frac{1 - e^{-a}}{1 + e^{-a}}\right) \quad (20)$$

$$2 \tan^{-1}(e^a) - \frac{\pi}{2} = \sum_{n=0}^{\infty} \frac{1}{n+1} \left(\frac{1 - e^{-2a}}{2} \right)^{n+1} F\left(2n+2, 1, n+2, \frac{1 - e^{-a}}{2}\right) \quad (21)$$

Remark: $F(a, b, c, x)$ is the Gauss hypergeometric function.

Entry 13.

$$\frac{\pi}{6} = \ln \left(\frac{1 + \sqrt{3}}{2} \right) + 2 \sum_{n=0}^{\infty} \frac{(-1)^n 2^{-n-2}}{n+2} F\left(1 + \frac{n}{2}, 1 + \frac{n}{2}, 2 + \frac{n}{2}, \frac{1}{4}\right) \quad (22)$$

$$\frac{\pi}{6} = \ln \left(\frac{1 + \sqrt{3}}{2} \right) + \sum_{n=0}^{\infty} \frac{(-1)^n 2^{-n-1}}{n+2} \sum_{k=0}^{\lfloor n/2 \rfloor} \frac{1}{k!} \left(1 - k + \frac{n}{2} \right)_k \quad (23)$$

Remark: $F(a, b, c, x)$ is the Gauss hypergeometric function.

Entry 14.

$$\frac{\pi}{8} = \int_0^1 \frac{\sin(\ln x)}{(1 + x^2 + 2x \cos(\ln x)) \ln x} dx \quad (24)$$

$$\frac{\pi}{8} = \int_0^{\infty} \frac{e^{-x} \sin x}{(1 + 2e^{-x} \cos x + e^{-2x})x} dx \quad (25)$$

Entry 15.

$$\frac{1}{\sqrt{2}} - \frac{\sqrt{2} \ln 2}{\pi} = \int_0^1 \left(\prod_{n=1}^{\infty} \frac{(4n-2)^2 - (2-x)^2}{(4n-2)^2 - (1-x)^2} \right) dx \quad (26)$$

Entry 16.

$$\sqrt{\pi} = \int_0^1 \sqrt{\frac{1}{x} \tanh^{-1} \left(\frac{1-x}{1+x} \right)} dx \quad (27)$$

$$\sqrt{\pi} = 2 \int_0^1 \frac{1}{1+x} \sqrt{\frac{\tanh^{-1} x}{1-x^2}} dx \quad (28)$$

$$\sqrt{\pi} = 2 \int_0^{\infty} \frac{\sqrt{\sinh^{-1} x}}{1 + x^2 + x\sqrt{1+x^2}} dx \quad (29)$$

$$\sqrt{\pi} = 2 \int_1^{\infty} \frac{\sqrt{\cosh^{-1} x}}{x^2 - 1 + x\sqrt{x^2 - 1}} dx \quad (30)$$

Entry 17. For $a = \frac{1}{6} \sqrt{21 - 4\sqrt{11}}$, we have

$$\left(\frac{\pi}{3}\right)^4 = \left(\sum_{n=1}^{\infty} \frac{(-1)^{n-1} \sin((2n-1)a\pi)}{(2n-1)^2}\right)^2 - \left(\sum_{n=1}^{\infty} \frac{(-1)^n \cos(2na\pi)}{(2n)^2}\right)^2 \quad (31)$$

Entry 18.

$$\frac{1}{12\sqrt{2\pi}} \left(\Gamma\left(\frac{1}{4}\right)\right)^2 = \int_0^{\infty} \left(1 - \left(\frac{2x}{x + \sqrt{4+x^2}}\right)^{1/4}\right) dx \quad (32)$$

$$\frac{5}{24\sqrt{2\pi}} \left(\Gamma\left(\frac{1}{4}\right)\right)^2 - 1 = \int_1^{\infty} \left(1 - \left(\frac{2\sqrt{x^2-1}}{x + \sqrt{x^2-1}}\right)^{1/4}\right) dx \quad (33)$$

Remark: $\Gamma(x)$ is the Gamma function.

Entry 19.

$$\pi \tanh 1 = \int_{-\tanh 1}^{\tanh 1} \cos^{-1}(\tanh^{-1} x) dx \quad (34)$$

$$\pi \tanh 1 = \int_{-1}^1 \frac{\cos^{-1} x}{\cosh^2 x} dx \quad (35)$$

$$\pi \left(\frac{1}{2} - \frac{1}{e^2 + 1}\right) = \int_{1/(1+e^2)}^{1/(1+e^{-2})} \cos^{-1} \left(\ln \sqrt{\frac{x}{1-x}}\right) dx \quad (36)$$

$$\pi = \int_0^1 \left(\frac{e^{-x}}{\cosh x} + \frac{e^{\sqrt{1-x^2}}}{\cosh \sqrt{1-x^2}}\right) \frac{1}{\sqrt{1-x^2}} dx \quad (37)$$

$$\pi = \int_0^{\pi/2} \frac{e^{\cos x}}{\cosh(\cos x)} dx + \int_0^{\pi/2} \frac{e^{-\sin x}}{\cosh(\sin x)} dx \quad (38)$$

$$\int_{1/(1+e^2)}^{1/(1+e^{-2})} \sin^{-1} \left(\ln \sqrt{\frac{x}{1-x}}\right) dx = 0 \quad (39)$$

$$-\int_{1/(1+e^2)}^{1/2} \sin^{-1} \left(\ln \sqrt{\frac{x}{1-x}}\right) dx = \int_{1/2}^{1/(1+e^{-2})} \sin^{-1} \left(\ln \sqrt{\frac{x}{1-x}}\right) dx \quad (40)$$

$$\int_{1/2}^{1/(1+e^{-2})} \sin^{-1} \left(\ln \sqrt{\frac{x}{1-x}}\right) dx = \frac{\pi}{2(1+e^{-2})} - \int_0^{\pi/2} \frac{1}{1+e^{-2\sin x}} dx \quad (41)$$

$$\int_0^{\pi/2} \tanh(\sin x) dx = \frac{\pi}{2} \tanh 1 - \int_0^{\tanh 1} \sin^{-1}(\tanh^{-1} x) dx \quad (42)$$

$$\int_0^{\pi/2} \tanh(\sin x) dx = \sum_{n=1}^{\infty} \frac{(-1)^{n-1} 2^{4n-1} (2^{2n}-1) B_n}{n} \left(\frac{n!}{(2n)!}\right)^2 \quad (43)$$

where $B_n = \left\{ \frac{1}{6}, \frac{1}{30}, \frac{1}{42}, \frac{1}{30}, \frac{5}{66}, \frac{691}{2730}, \dots \right\}$ are the Bernoulli numbers.

$$\int_{1/(1+e^2)}^{1/2} \sin^{-1} \sqrt{\ln \left(e \sqrt{\frac{1-x}{x}} \right) \ln \left(e \sqrt{\frac{x}{1-x}} \right)} dx = \int_{1/2}^{1/(1+e^{-2})} \sin^{-1} \sqrt{\ln \left(e \sqrt{\frac{1-x}{x}} \right) \ln \left(e \sqrt{\frac{x}{1-x}} \right)} dx \quad (44)$$

$$\pi = \int_{1/(1+e^2)}^{1/(1+e^{-2})} \frac{1}{(1-x) \sqrt{1 - \left(\ln \sqrt{\frac{x}{1-x}} \right)^2}} dx \quad (45)$$

$$\pi = \int_{1/(1+e^2)}^{1/(1+e^{-2})} \frac{1}{x \sqrt{1 - \left(\ln \sqrt{\frac{1-x}{x}} \right)^2}} dx \quad (46)$$

$$\pi \left(\frac{1}{2} - \frac{1}{1+e^2} \right) = \int_1^{e/\cosh 1} \cos^{-1} \left(\ln \sqrt{\frac{x}{2-x}} \right) dx + \int_{e^{-1}/\cosh 1}^1 \sin^{-1} \left(\ln \sqrt{\frac{2-x}{x}} \right) dx \quad (47)$$

Entry 20.

$$\pi \left(\sqrt{1+\sqrt{2}} - \sqrt{2} \right) = \sum_{n=0}^{\infty} \frac{2^{-n}}{2n+3} \sum_{k=0}^{\lfloor n/2 \rfloor} \frac{(-1)^k (-1/2)_{n-2k}}{(n-2k)!} + \sum_{n=0}^{\infty} \frac{2^{-n-1}}{2n+3} \sum_{k=0}^n \frac{(-1/2)_{n-k}}{(n-k)!} \sum_{m=0}^{\lfloor k/2 \rfloor} \binom{k-m}{m} (-2)^{-m} \quad (48)$$

Entry 21.

$$1 + \frac{\ln 2}{3} - \frac{\pi \sqrt{3}}{9} = \int_0^1 \sqrt{\frac{x}{1+\sqrt{1-x^2}}} dx \quad (49)$$

Entry 22.

$$\pi = \int_{e^{-1}}^e \frac{2x}{(1+x^2) \sqrt{1-\ln^2 x}} dx = \int_{e^{-1}}^e \frac{2x}{(1+x^2) \sqrt{\ln(\frac{e}{x}) \ln(ex)}} dx \quad (50)$$

Entry 23. For $u = \frac{2\sqrt[3]{2}}{9}$, we have

$$\frac{8\pi}{27} = \int_0^u \sqrt[4]{x} \left(\sec \left(\frac{2\pi}{3} + \frac{1}{3} \cos^{-1} \left(\frac{3\sqrt{3x^{3/2}}}{2} \right) \right) - \sec \left(\frac{4\pi}{3} + \frac{1}{3} \cos^{-1} \left(\frac{3\sqrt{3x^{3/2}}}{2} \right) \right) \right) dx \quad (51)$$

$$\frac{5}{6\sqrt{3}} + \frac{4\ln 2}{9\sqrt{3}} - \frac{4\pi}{27} = - \int_0^{1/4} \sqrt[4]{x} \sec \left(\frac{2\pi}{3} + \frac{1}{3} \cos^{-1} \left(\frac{3\sqrt{3x^{3/2}}}{2} \right) \right) dx \quad (52)$$

Entry 24.

$$\frac{\sqrt{\pi}}{8} \left(\Gamma \left(\frac{1}{4} \right) \right)^2 = - \int_0^1 \frac{1}{\sqrt{1-x^2}} \left(\frac{\ln \left(\frac{1-\sqrt{1-x^2}}{2} \right)}{\sqrt{3-\sqrt{1-x^2}}} + \frac{\ln \left(\frac{1+\sqrt{1-x^2}}{2} \right)}{\sqrt{3+\sqrt{1-x^2}}} \right) dx \quad (53)$$

Remark: $\Gamma(x)$ is the Gamma function.

Entry 25. For $\phi = \frac{1+\sqrt{5}}{2}$, we have

$$\frac{\pi}{\sqrt{3}} = 2 \sum_{n=0}^{\infty} (-1)^n \left(\frac{\phi}{3\alpha} \right)^n \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{n-k}{k} \frac{(-1)^k}{2n-2k+1} \left(\frac{3}{\phi^2 \sqrt{5}} \right)^k \quad (54)$$

where

$$\alpha = \sqrt{\frac{1}{\sqrt{5}} + \phi \sqrt{\frac{1}{\sqrt{5}} + \phi \sqrt{\frac{1}{\sqrt{5}} + \dots}}} = \phi + \frac{1}{\phi \sqrt{5} + \frac{1}{\phi + \frac{1}{\phi \sqrt{5} + \dots}}} \quad (55)$$

Entry 26. For $\phi = \frac{1+\sqrt{5}}{2}$, we have

$$\frac{\pi}{\sqrt{3}} = 2 \sum_{n=0}^{\infty} (-1)^n \left(\frac{\phi \sqrt{5} \beta}{3} \right)^n \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{n-k}{k} \frac{(-1)^k}{2n-2k+1} \left(\frac{3}{\phi^2 \sqrt{5}} \right)^k \quad (56)$$

where

$$\beta = -\frac{1/\sqrt{5}}{\phi + \frac{1/\sqrt{5}}{\phi + \frac{1/\sqrt{5}}{\phi + \dots}}} \quad (57)$$

Entry 27.

$$-\frac{\sqrt{\pi}}{32} \left(\Gamma\left(\frac{1}{4}\right) \right)^2 = \int_0^1 \frac{\ln x}{\sqrt{1+x^4} + \sqrt{1+2x^4-3x^8} - \sqrt{1+x^4} - \sqrt{1+2x^4-3x^8}} dx \quad (58)$$

Remark: $\Gamma(x)$ is the Gamma function.

Entry 28.

$$\pi = 3 \sum_{n=0}^{\infty} \left(\frac{3}{4} \right)^{2n} \sum_{k=0}^{\lfloor \frac{2n+1}{3} \rfloor} \binom{2n-2k}{n-k} \binom{2n-2k+1}{k} \frac{(-1)^k (16/27)^k}{2n-2k+1} \quad (59)$$

$$\pi = 3 \sum_{n=0}^{\infty} \binom{2n}{n} \frac{(3/4)^{2n}}{2n+1} {}_3F_2 \left(-\frac{2n+1}{3}, \frac{1-2n}{3}, -\frac{2n}{3}; \frac{1}{2}-n, \frac{1}{2}-n; 1 \right) \quad (60)$$

Remark: ${}_3F_2(a, b, c; d, e; x)$ is the hypergeometric function.

Entry 29.

$$\pi = \int_0^1 \frac{1}{\sqrt{1-x^2}} \left(\frac{\ln \left(\frac{(2-x)(1-\sqrt{1-x^2})}{x^2} \right)}{\ln \left(\frac{1-\sqrt{1-x^2}}{x} \right)} + \frac{\ln \left(\frac{(2-x)(1+\sqrt{1-x^2})}{x^2} \right)}{\ln \left(\frac{1+\sqrt{1-x^2}}{x} \right)} \right) dx \quad (61)$$

Entry 30. For $a = \sqrt{2 + \sqrt{2 + \sqrt{2 + \sqrt{2}}}}$, $b = \sqrt{2 - \sqrt{2 + \sqrt{2 + \sqrt{2}}}}$, we have

$$\frac{341 \pi^3}{2^{15} b} = \sum_{n=0}^{\infty} 2^{-n-1} \sum_{k=0}^n \left(1 - \frac{a}{2} \right)^k \binom{n+k+1}{n-k} \sum_{m=0}^{n-k} \binom{n-k}{m} \frac{(-1)^m}{(k+m+1)^3} \quad (62)$$

$$\frac{341 \pi^3}{2^{15} b} = 8 \sum_{n=0}^{\infty} \frac{1}{(1+a)^{n+2}} \sum_{k=0}^n (-1)^k \left(\frac{b^2}{1+a} \right)^k \binom{n+k+1}{n-k} \sum_{m=0}^{n-k} \binom{n-k}{m} \frac{(-2)^m}{(m+1)^3} \quad (63)$$

$$\frac{341 \pi^3}{2^{15} b} = 2 \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^2} F\left(\frac{n+1}{2}, -\frac{n-1}{2}, \frac{3}{2}, \frac{b^2}{4}\right) \quad (64)$$

$$\frac{341 \pi^3}{2^{15} b} = \frac{4}{5} \sum_{n=0}^{\infty} \left(\frac{3}{5}\right)^n \sum_{k=0}^n \binom{n}{k} \left(-\frac{2}{3}\right)^k \sum_{m=0}^k \binom{k}{m} \frac{a^{k-m}}{(k+m+1)^3} \quad (65)$$

Remark: $F(a, b, c, x)$ is the Gauss hypergeometric function.

Entry 31.

$$\pi = \int_0^{\infty} \frac{x}{(1+x^2)^{7/8} + (1+x^2)^{9/8}} dx \quad (66)$$

$$\frac{\pi}{2} = \int_0^{\infty} \frac{x}{(1+x^2)^{3/4} + (1+x^2)^{5/4}} dx \quad (67)$$

Entry 32.

$$\pi \sqrt{2(\sqrt{6}+2)} = 4 \sqrt{2(\sqrt{6}+2)} \tan^{-1} \left(\frac{\sqrt{2}-\sqrt{\sqrt{6}-2}}{\sqrt{2}+\sqrt{\sqrt{6}-2}} \right) + \frac{8}{\sqrt{3}} \sum_{n=0}^{\infty} \left(1 - \sqrt{\frac{2}{3}}\right)^n \frac{2^{2n}}{2n+1} \binom{2n}{n}^{-1} \quad (68)$$

$$\pi = 4 \sum_{n=0}^{\infty} \left(\frac{1}{2} - \frac{1}{2} \sqrt{\sqrt{\frac{3}{2}} - 1} \right)^{n+1} \sum_{k=0}^{\lfloor n/2 \rfloor} \frac{(-1)^k}{2k+1} \binom{n}{n-2k} + 4 \sqrt{\sqrt{\frac{2}{3}} \left(1 - \sqrt{\frac{2}{3}}\right)} \sum_{n=0}^{\infty} \left(1 - \sqrt{\frac{2}{3}}\right)^n \frac{2^{2n}}{2n+1} \binom{2n}{n}^{-1} \quad (69)$$

Entry 33. For $\lambda = \sinh 2$, we have

$$\pi = \frac{4\lambda\sqrt{2}}{2+\lambda^2} \sum_{n=0}^{\infty} 2^{-3n} \times \sum_{k=0}^n 2^{3k} \binom{2n-2k}{n-k}^2 \left(\frac{\lambda^2}{2+\lambda^2}\right)^k \sum_{m=0}^k \frac{(-1)^m 2^{5m}}{(2m+1)^2} \binom{k}{m} \binom{2n-2k+4m+2}{n-k+2m+1}^{-1} \binom{2n}{n-k}^{-1} \quad (70)$$

Entry 34. For $u_{n+1} = \sqrt[3]{8\sqrt{3} + 12u_n}$, $u_0 = 0$, we have

$$\frac{4}{9} \pi = \tan^{-1}(\sqrt{3} + u_1) + \sum_{n=1}^{\infty} \tan^{-1} \left(\frac{u_{n+1} - u_n}{1 + (\sqrt{3} + u_n)(\sqrt{3} + u_{n+1})} \right) \quad (71)$$

$$\frac{4}{9} \pi = \tan^{-1} \left(\sqrt{3} + \sqrt[3]{8\sqrt{3}} \right) + \tan^{-1} \left(\frac{\sqrt[3]{8\sqrt{3} + 12\sqrt[3]{8\sqrt{3}}} - \sqrt[3]{8\sqrt{3}}}{1 + \left(\sqrt{3} + \sqrt[3]{8\sqrt{3}}\right) \left(\sqrt{3} + \sqrt[3]{8\sqrt{3} + 12\sqrt[3]{8\sqrt{3}}}\right)} \right) +$$

$$\tan^{-1} \left(\frac{\sqrt[3]{8\sqrt{3} + 12\sqrt[3]{8\sqrt{3} + 12\sqrt[3]{8\sqrt{3}}}} - \sqrt[3]{8\sqrt{3} + 12\sqrt[3]{8\sqrt{3}}}}{1 + \left(\sqrt{3} + \sqrt[3]{8\sqrt{3} + 12\sqrt[3]{8\sqrt{3}}}\right) \left(\sqrt{3} + \sqrt[3]{8\sqrt{3} + 12\sqrt[3]{8\sqrt{3} + 12\sqrt[3]{8\sqrt{3}}}}\right)} \right) + \dots \quad (72)$$

Entry 35. For $u_{n+1} = \sqrt[3]{2368 + 336u_n}$, $u_0 = 0$, we have

$$\pi = 8 \tan^{-1} \left(\frac{\sqrt{2(17 + \sqrt{17})} - \sqrt{17} - 1}{4} \right) + 2 \tan^{-1} \left(\frac{1}{4} \right) \quad (85)$$

$$\pi = 16 \tan^{-1} \left(\frac{\sqrt{2(17 + \sqrt{17})} - \sqrt{17} - 1}{4} \right) - 4 \tan^{-1} \left(\frac{3}{5} \right) \quad (86)$$

$$\pi = \frac{32}{3} \tan^{-1} \left(\frac{\sqrt{2(17 + \sqrt{17})} - \sqrt{17} - 1}{4} \right) - \frac{4}{3} \tan^{-1} \left(\frac{7}{23} \right) \quad (87)$$

Entry 42.

$$\pi \sqrt{\sqrt{2} + 1} = \int_0^\infty \frac{1}{\sqrt{\sqrt{2} e^x - 1} - 1} dx \quad (88)$$

$$\pi = \int_0^\infty \tan^{-1} \left(\frac{16 + 8x^2}{63 + 8x^2 + x^4} \right) dx \quad (89)$$

$$\frac{\pi^2}{8} - \pi \tan^{-1} \left(\frac{\sqrt{\sqrt{2} - 1}}{1 + \sqrt{\sqrt{2} + 1}} \right) = \int_0^{\pi/4} \sin^{-1} \sqrt{\frac{\tan x}{2 - \tan x}} dx \quad (90)$$

$$\pi \tan^{-1} \left(\frac{\sqrt{\sqrt{2} - 1}}{1 + \sqrt{\sqrt{2} + 1}} \right) = \int_0^1 \frac{1}{\sqrt{1 - x^2}} \tan^{-1} \left(\frac{2x^2}{1 + x^2} \right) dx \quad (91)$$

$$\pi \tan^{-1} \left(\frac{\sqrt{\sqrt{2} - 1}}{1 + \sqrt{\sqrt{2} + 1}} \right) = \int_0^\infty \frac{\tan^{-1}(\tanh x \tanh(2x))}{\cosh x} dx \quad (92)$$

$$\sqrt{2} \pi \tan^{-1} \left(\frac{\sqrt{\sqrt{2} - 1}}{1 + \sqrt{\sqrt{2} + 1}} \right) = \int_0^1 \frac{\tan^{-1} x}{(2 - x) \sqrt{x(1 - x)}} dx \quad (93)$$

$$\pi = \int_0^\infty \ln \left(\frac{144 + (5 + 4x^2)^2}{16 + (3 + 4x^2)^2} \right) dx \quad (94)$$

$$2\pi = \int_0^{2 \ln(13/5)} \sqrt{\frac{5}{e^x - 1} - \frac{3e^x}{e^x - 1} + \frac{2\sqrt{-36 + 41e^x - 4e^{2x}}}{e^x - 1}} dx \quad (95)$$

Entry 43.

$$\pi \sqrt{2\sqrt{2} + 2} = \int_0^\infty \frac{1}{x^{3/2}} \ln \sqrt{(1+x)^2 + x^2} dx \quad (96)$$

$$\pi \sqrt{2\sqrt{2} - 2} = \int_0^\infty \frac{1}{x^{3/2}} \tan^{-1} \left(\frac{x}{1+x} \right) dx \quad (97)$$

$$\pi \sqrt{2\sqrt{2} + 2} = \int_0^\infty \frac{\ln(1 + 2x^2 + 2x^4)}{x^2} dx \quad (98)$$

$$\pi \sqrt{2\sqrt{2} - 2} = \int_0^\infty \frac{2}{x^2} \tan^{-1}\left(\frac{x^2}{1+x^2}\right) dx \quad (99)$$

Entry 44.

$$\pi \ln\left(1 + \sqrt{2} + \sqrt{2 + 2\sqrt{2}}\right) = \int_0^\infty \frac{\ln((\sinh x)^4 + (\cosh x)^4)}{\cosh x} dx \quad (100)$$

$$\pi \ln\left(\frac{1 + \sqrt{2} + \sqrt{2 + 2\sqrt{2}}}{4}\right) = \int_0^1 \frac{\ln(1+x^4)}{\sqrt{1-x^2}} dx \quad (101)$$

$$\pi \tan^{-1}\left(1 + \sqrt{2} - \sqrt{2 + 2\sqrt{2}}\right) = \int_0^1 \frac{\tan^{-1} x^2}{\sqrt{1-x^2}} dx \quad (102)$$

Endnote

Entry 45. For $m \in \mathbb{N} = \{1, 2, 3, 4, \dots\}$, we have

$$\pi = 2^{m+1} \sum_{n=0}^{\infty} (s_m)^{n+1} \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{2k}{k} \binom{n}{n-2k} \frac{2^{-2k}}{2k+1} \quad (103)$$

where

$$s_1 = \frac{\sqrt{2}}{2 + \sqrt{2}}, \quad s_2 = \frac{\sqrt{2 - \sqrt{2}}}{2 + \sqrt{2 - \sqrt{2}}}, \quad s_3 = \frac{\sqrt{2 - \sqrt{2 + \sqrt{2}}}}{2 + \sqrt{2 - \sqrt{2 + \sqrt{2}}}}, \quad \dots \quad (104)$$

References

1. Abramowitz, M. and Stegun, I.A. : Handbook of Mathematical Functions, Dover, New York, 1965.
2. Bailey, D.H., Borwein, J.M. Borwein, P.B., and Plouffe, S. : The quest for Pi. Math. Intelligencer, 19, 1997, 50-57.
3. Berggren, L., Borwein, J., and Borwein, P. : Pi : a Source Book. Springer-Verlag, 1997.
2. Boros, G. and Moll, V : Irresistible Integrals, Cambridge University Press, 2004.
3. Gradshteyn, I.S. and Ryzhik, I.M. : Table of Integrals, Series and Products, 7th ed., edited by A. Jeffrey and D. Zwillinger, Academic Press 2007.
4. Greene, R., and Krantz, S. : Function theory of one complex variable. Graduate Studies in Mathematics, 40, American Mathematical Society, 2002.
5. Jolley, L.B.W. : Summation of Series. 2nd ed., Dover, 1961.